
DeTRAKOR R

Assembly Instructions



contents

Tools
  

PARTS & Hardware
  

Assembly
  

operation
 

Storage & Care

* Shown with optional SNO-RAZOR and Deflector Assembly

operation

STEP 5 - Engage / disengage
 
To Engage or Disengage the DeTRAKOR, pull the locking 
pin out to release.

ENGAGE - With the Locking Pin pulled out (unlocked), pull 
the Lifting Handle up away from the Chassis until the  
Locking Pin aligns with the top hole and release the    
Locking Pin. Verify pin is completely in the locked position.  

EngagED

DISEngagED

DISENGAGE - With the Locking Pin pulled out (unlocked), 
push the Lifting Handle down toward the Chassis until the 
Locking Pin aligns with the bottom hole and release the 
Locking Pin. Verify pin is completely in to locked in place.   



operation

storage & care

For best storage results, store in the disengaged position and verify ease 
of movememnt at the hingle.  Check the grease and add new grease as 
necessary to the pivot washers (refer to step 3).

We hope you enjoy your new SNOW GROOMERS equipment!

adjustment bolt

jam nut

Loosen

MAGNETIC BASE

0

90

0

90

20

STEP 6 - Adjust Angle
  
Loosen the Pivot Bolt, Bracket Bolt, and Jam Nut. 

Adjust the angle of the pan while in the locked engaged 
position to 20 degrees by turning the Adjustment Bolt as 
needed, Then
tighten all 3.

bracket bolt

pivot bolt

STEP 5 - Engage / disengage
 
To Engage or Disengage the DeTRAKOR, pull the locking 
pin out to release.

ENGAGE - With the Locking Pin pulled out (unlocked), pull 
the Lifting Handle up away from the Chassis until the  
Locking Pin aligns with the top hole and release the    
Locking Pin. Verify pin is completely in the locked position.  

7/16 Wrench

7/16 Socket
1/2 socket

9/16 Socket
& Rachet

tools

1/2 Wrench

9/16 Wrench



PARTS & Hardware

1 - 36” DEtrakor r Pan and Comb Assembly

1 - DEtrakor r Lifting Handle

1 - Mounting bracket (RH)

1 - Mounting Bracket (LH)

1 - Locking Pin & Bracket

Hardware

4 - 1/4-20 x 7/8” Stainless Steel Hex Bolt
4 - 1/4-20 Stainless Steel Nylock Nuts
2 - 5/16-18 x 3/4” Stainless Steel Hex Bolt
2 - 5/16-18 x 1” Stainless Steel Hex Bolt
4 - 5/16-18 Stainless Steel Nylock Nuts
1 - 3/8-16 x 1-1/4” stainless steel hex bolt
1 - 3/8-16 x 1” stainless steel hex bolt
2 - 3/8-16 Stainless Steel Nylock Nuts
2 - 3/8” x 1-1/4” Washers
1 - 5/16” x 7/8” washer

1
2
3
4
5

1

2
34

5

ASSEMBLY

STEP 3 - mounting bracket (Right)
   
Insert the 3/8-16 x 1” Hex Bolt through the right Mounting 
Bracket, through the 3/8” washer (apply All-Purpose 
Grease to both sides of washer).

Through the pivot hole on the 
Pan Bracket, then finger 
tighten the 3/8-16 Nylock Nut.
 
 

3/8-16 x 1” Stainless 
Steel Hex Bolt

3/8-16 Stainless 
Steel Nylock Nut

3/8 x 1-1/4”  Stainless 
Steel Washer

3



ASSEMBLY

STEP 4 - attach to chassis
 
Attach the DeTRAKOR® to the TRAKOR Chassis by Moving 
the assembly in place so the three holes on the chassis 
align with the Mounting Brackets. 

Next, insert two 1/4-20 x 7/8” Stainless steel hex bolts 
through the bottom of the mounting bracket and then 
through the chassis. 

Then slide the 5/16” washer over the 5/16-18 x 1” Stainless 
Steel Hex Bolt and insert through DeTRAKOR® assembly. 
                    

                                 Repeat on opposite side and finger tighten the
                      Nylock Nuts on all Bolts. Note: If reinstalling 
                      Wing Set, insert the 1/4-20 Bolts through the 
                      Wing Brackets, then the DeTRAKOR® 
                      Mounting Bracket, then Chassis.

1/4-20 Stainless 
Steel Nylock Nuts

5/16-18 Stainless 
Steel Nylock Nut

5/16-18 x 1” 
Stainless Steel Hex Bolt

1/4-20 x 7/8” Stainless 
Steel hex bolts

ASSEMBLY

STEP 1 - Remove Wings
 
If your TRAKOR® Chassis has previously been installed 
with a set of wings, remove them prior to the DeTRAKOR®   

installation. 

Loosen and remove the (2) 1/4-20 x 3/4” Stainless Steel Hex
Bolts and 1/4-20 Stainless Steel Nylock Nuts located on 
each wing. 

The 1/4-20 x 3/4” Stainless Steel Hex Bolts will be replaced 
with 1/4-20 x 7/8” Stainless Steel Hex Bolts later in the 
installation process.

Stainless steel nylock nutstainless steel hex bolt



ASSEMBLY

STEP 2 - Lifting Handle
 
Attach the Lifting Handle on the left, inside of the
DeTRAKOR® Pan Bracket.  

All 5 holes should be aligned for 
proper operation of Locking Pin.

5/16-18 Stainless 
Steel Nylock Nuts

5/16-18 x 3/4” Stainless 
Steel Hex Bolts

1

2

ASSEMBLY

STEP 2 - Lifting Handle
 
Attach the Lifting Handle on the left, inside of the
DeTRAKOR® Pan Bracket.  

All 5 holes should be aligned for 
proper operation of Locking Pin.

5/16-18 Stainless 
Steel Nylock Nuts

5/16-18 x 3/4” Stainless 
Steel Hex Bolts

1

2



ASSEMBLY

STEP 3 - Mounting Bracket (left)
  
Insert the 3/8-16 x 1-1/4” Hex Bolt through the Locking Pin 
Assembly, through the left Mounting Bracket, through the 
3/8” Washer, (apply All-Purpose Grease to both sides of                      
washer) through the Pivot           Hole on the Pan Bracket, 
then finger tighten the                 3/8-16 Nylock Nut.
 
 

3/8-16 x 1-1/4” Stainless 
Steel Hex Bolt

3/8-16 Stainless 
Steel Nylock Nut

3/8 x 1-1/4”  Stainless 
Steel Washer

4

5

ASSEMBLY

STEP 3 - Mounting Bracket (left)
  
Insert the 3/8-16 x 1-1/4” Hex Bolt through the Locking Pin 
Assembly, through the left Mounting Bracket, through the 
3/8” Washer, (apply All-Purpose Grease to both sides of                      
washer) through the Pivot           Hole on the Pan Bracket, 
then finger tighten the                 3/8-16 Nylock Nut.
 
 

3/8-16 x 1-1/4” Stainless 
Steel Hex Bolt

3/8-16 Stainless 
Steel Nylock Nut

3/8 x 1-1/4”  Stainless 
Steel Washer

4

5



STEP 3 - Mounting Bracket (left)
  
Insert the 3/8-16 x 1-1/4” Hex Bolt through the Locking Pin 
Assembly, through the left Mounting Bracket, through the 
3/8” Washer, (apply All-Purpose Grease to both sides of                      
washer) through the Pivot           Hole on the Pan Bracket, 
then finger tighten the                 3/8-16 Nylock Nut.
 
 

ASSEMBLY

STEP 3 - mounting bracket (Right)
   
Insert the 3/8-16 x 1” Hex Bolt through the right Mounting 
Bracket, through the 3/8” washer (apply All-Purpose 
Grease to both sides of washer).

Through the pivot hole on the 
Pan Bracket, then finger 
tighten the 3/8-16 Nylock Nut.
 
 

3/8-16 x 1” Stainless 
Steel Hex Bolt

3/8-16 Stainless 
Steel Nylock Nut

3/8 x 1-1/4”  Stainless 
Steel Washer

3

PARTS & Hardware

1 - 36” DEtrakor r Pan and Comb Assembly

1 - DEtrakor r Lifting Handle

1 - Mounting bracket (RH)

1 - Mounting Bracket (LH)

1 - Locking Pin & Bracket

Hardware

4 - 1/4-20 x 7/8” Stainless Steel Hex Bolt
4 - 1/4-20 Stainless Steel Nylock Nuts
2 - 5/16-18 x 3/4” Stainless Steel Hex Bolt
2 - 5/16-18 x 1” Stainless Steel Hex Bolt
4 - 5/16-18 Stainless Steel Nylock Nuts
1 - 3/8-16 x 1-1/4” stainless steel hex bolt
1 - 3/8-16 x 1” stainless steel hex bolt
2 - 3/8-16 Stainless Steel Nylock Nuts
2 - 3/8” x 1-1/4” Washers
1 - 5/16” x 7/8” washer

1
2
3
4
5

1

2
34

5



ASSEMBLY

STEP 1 - Remove Wings
 
If your TRAKOR® Chassis has previously been installed 
with a set of wings, remove them prior to the DeTRAKOR®   

installation. 

Loosen and remove the (2) 1/4-20 x 3/4” Stainless Steel Hex
Bolts and 1/4-20 Stainless Steel Nylock Nuts located on 
each wing. 

The 1/4-20 x 3/4” Stainless Steel Hex Bolts will be replaced 
with 1/4-20 x 7/8” Stainless Steel Hex Bolts later in the 
installation process.

Stainless steel nylock nutstainless steel hex bolt

ASSEMBLY

STEP 4 - attach to chassis
 
Attach the DeTRAKOR® to the TRAKOR Chassis by Moving 
the assembly in place so the three holes on the chassis 
align with the Mounting Brackets. 

Next, insert two 1/4-20 x 7/8” Stainless steel hex bolts 
through the bottom of the mounting bracket and then 
through the chassis. 

Then slide the 5/16” washer over the 5/16-18 x 1” Stainless 
Steel Hex Bolt and insert through DeTRAKOR® assembly. 
                    

                                 Repeat on opposite side and finger tighten the
                      Nylock Nuts on all Bolts. Note: If reinstalling 
                      Wing Set, insert the 1/4-20 Bolts through the 
                      Wing Brackets, then the DeTRAKOR® 
                      Mounting Bracket, then Chassis.

1/4-20 Stainless 
Steel Nylock Nuts

5/16-18 Stainless 
Steel Nylock Nut

5/16-18 x 1” 
Stainless Steel Hex Bolt

1/4-20 x 7/8” Stainless 
Steel hex bolts



operation

STEP 5 - Engage / disengage
 
To Engage or Disengage the DeTRAKOR, pull the locking 
pin out to release.

ENGAGE - With the Locking Pin pulled out (unlocked), pull 
the Lifting Handle up away from the Chassis until the  
Locking Pin aligns with the top hole and release the    
Locking Pin. Verify pin is completely in the locked position.  

EngagED

DISEngagED

DISENGAGE - With the Locking Pin pulled out (unlocked), 
push the Lifting Handle down toward the Chassis until the 
Locking Pin aligns with the bottom hole and release the 
Locking Pin. Verify pin is completely in to locked in place.   

contents

Tools
  

PARTS & Hardware
  

Assembly
  

operation
 

Storage & Care

* Shown with optional SNO-RAZOR and Deflector Assembly



7/16 Wrench

7/16 Socket
1/2 socket

9/16 Socket
& Rachet

tools

1/2 Wrench

9/16 Wrench

operation

storage & care

For best storage results, store in the disengaged position and verify ease 
of movememnt at the hingle.  Check the grease and add new grease as 
necessary to the pivot washers (refer to step 3).

We hope you enjoy your new SNOW GROOMERS equipment!

adjustment bolt

jam nut

Loosen

MAGNETIC BASE

0

90

0

90

20

STEP 6 - Adjust Angle
  
Loosen the Pivot Bolt, Bracket Bolt, and Jam Nut. 

Adjust the angle of the pan while in the locked engaged 
position to 20 degrees by turning the Adjustment Bolt as 
needed, Then
tighten all 3.

bracket bolt

pivot bolt



1180 N Mountain Springs Pkwy
Springville, UT 84663

800-430-7120
www.snowgroomers.net


